
��
��

Allegretto

GEE
p

5 : 555 5L 5E 5 5L� = 5 : 555 5L 5E 5 5L� = 5 :55 :55L 5L 5 :55 :55L 5L 5L 5L 85L 5L 5 :55 :55K� =
GEE = 55 55 55 = 55 55 55 = 55 55 55 = 55 55 55 55 5 5� = 55� 5 5 5� = 55� = 55

� = � 55 55� =5�

9GEE
f

5 : 5 5 5 5L 5E 5 5L� = 5 : 5 5 5 5L 5E 5 5L� =

�EE
5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

5 5 5 5 5

13GEE 5555
55555555 5 5E 55

5 5 5 5 5 555 5E 5555555 5! 555 5

�EE 5! 5� = 5 5� = = G �
55 55 55

5

Copyright © 2013 Oxford University Press

Supplementary Example 6.15
Mozart, Piano Sonata in D, K. 576
third movement, 1–16
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Analyzing Classical Form


